lﬁﬁgg Adolygiad Arholiad Ar-lein CBAC 2014

TAG Daearyddiaeth G3 1203_51

Perfformiad yr holl ymgeiswyr ar draws y cwestiynau

Teitl y cwestiwn N Sgor gymedrig GS Marc uchaf FfH Cynnig %

1 241 13.9 4 25 55.7 9.3
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Sticky Note
Rhif y cwestiwn fel arfer

Sticky Note
Nifer yr ymgeiswyr sy’n ceisio ateb y cwestiwn


Sticky Note
Cyfrifir y sgôr gymedrig trwy adio sgorau'r ymgeiswyr unigol a'u rhannu â chyfanswm nifer yr ymgeiswyr. Os bydd yr ymgeiswyr i gyd yn cyflawni'n dda ar eitem arbennig, bydd y sgôr gymedrig yn agos at yr uchafswm marciau. I'r gwrthwyneb, os bydd ymgeiswyr yn gyffredinol yn cyflawni'n wael ar yr eitem bydd gwahaniaeth mawr rhwng y sgôr gymedrig a'r uchafswm marciau. Bydd cymharu'r marciau cymedrig yn syml yn dwyn sylw at yr eitemau hynny sy'n cyfrannu'n arwyddocaol at berfformiad cyffredinol yr ymgeiswyr. Fodd bynnag, gan nad oes i bob eitem yr un uchafswm marciau, arwydd rhannol yn unig o berfformiad ymgeiswyr a geir trwy gymharu'r cymedrau. Nid yw cael cymedrau cyfartal o anghenraid yn golygu perfformiad cyfartal. Os oes gan gwestiynau uchafswm marciau gwahanol, dylid defnyddio'r ffactor hygyrchedd i gymharu perfformiad.


Sticky Note
Mae'r gwyriad safonol yn mesur gwasgariad y data o gwmpas y sgôr gymedrig. Po fwyaf yw'r gwyriad safonol, mwyaf gwasgaredig (neu lai cyson) yw perfformiadau'r ymgeiswyr am yr eitem honno. Mae cynnydd yn y gwyriad safonol yn tueddu i fod yn arwydd o amrywiaeth gynyddol o blith ymgeiswyr, neu o bapur sy'n gwahaniaethu fwy, gan fod y marciau'n fwy gwasgaredig o gwmpas y canol. Mewn gwrthgyferbyniad, byddai gostyngiad yn y gwyriad safonol yn awgrymu bod mwy o unffurfiaeth ymhlith yr ymgeiswyr, neu bod llai o wahaniaethu ar y papur, gan fod marciau'r ymgeiswyr wedi'u clystyru fwy o gwmpas y canol.

Sticky Note
Uchafswm y marciau ar gyfer cwestiwn arbennig.

Sticky Note
Mae ffactor hygyrchedd eitem yn mynegi'r marc cymedrig fel canran o'r uchafswm marciau (Uchaf. Marciau) ac yn fesur o hygyrchedd yr eitem. Os yw'r marc cymedrig a enillir gan yr ymgeiswyr yn agos at yr uchafswm marciau, bydd y ffactor hygyrchedd yn agos at 100 y cant a'r eitem yn cael ei hystyried yn hygyrch iawn. Fodd bynnag, os yw'r marc cymedrig yn isel o'i gymharu ag uchafswm y sgôr, bydd y ffactor hygyrchedd yn fychan a'r eitem yn cael ei hystyried yn llai hygyrch i'r ymgeiswyr.


Sticky Note
Mae'r tabl, i bob eitem, yn dangos nifer (N) a chanran yr ymgeiswyr wnaeth roi cynnig ar y cwestiwn. Wrth gymharu eitemau ar y mesur hwn mae'n bwysig ystyried trefn ymddangos yr eitemau ar y papur. Os oes cyfanswm amser cyfyngedig i'r papur, mae'n bosibl na fydd gan rai ymgeiswyr ddigon o amser i gwblhau'r papur. Gall hyn olygu, yn ôl y mesur hwn, fod gan yr eitemau hynny sydd ar ddiwedd y papur ffigur datchwyddedig. Os nad ystyrir bod yr amser a ddyrannwyd am y papur yn ffactor arwyddocaol, gall canran isel olygu bod problemau hygyrchedd. Pan fydd ymgeiswyr yn cael dewis cwestiwn mae'r ystadegau'n dangos blaenoriaethau'r ymgeiswyr, ond dylanwad y polisi addysgu yn y ganolfan hefyd.

Line


ADRAN A: THEMAU CYFOES MEWN DAEARYDDIAETH

Atebwch ddau gwestiwn, un cwestiwn o gwestiynau 1i 8
ac un cwestiwn o gwestiynau 9 i 16.

Dylech ddefnyddio cymaint o enghreifftiau ag sy’n bosibl i ategu eich atebion.

Atebwch un cwestiwn o gwestiynau 1 i 8.

Thema 1 Amgylcheddau Eithafol

2. Archwiliwch nodweddion amgylchedd twndra sy’n ei wneud yn amgylchedd eithafol.

() WJEC CBAC Cyf. (1203-51)
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Sticky Note
Techneg dda - mae'r ail ddull wedi ei nodi ac yn ei werthuso.

Sticky Note
Peth gwerthuso - er nad oes cyfiawnhad pam ei fod yn dda.

Sticky Note
Mae'r dull cyntaf yn cynnwys ychydig ddisgrifio.
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Sticky Note
Techneg syml ond effeithiol - nodi'r dull, ychydig amlinellu, yna gwerthuso. Mae'n mynd yn syth at ofynion y cwestiwn gydag ystod digon eang, felly mae'r ateb yn haeddu Lefel 3.


ADRAN A: THEMAU CYFOES MEWN DAEARYDDIAETH

Atebwch ddau gwestiwn, un cwestiwn o gwestiynau 1i 8
ac un cwestiwn o gwestiynau 9 i 16.

Dylech ddefnyddio cymaint o enghreifftiau ag sy’n bosibl i ategu eich atebion.

Atebwch un cwestiwn o gwestiynau 1 i 8.

Amgylcheddau Arfordirol

6. Aseswch bwysigrwydd daeareg yn natblygiad tirffurfiau arfordirol. [25]

() WJEC CBAC Cyf. (1203-51)
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Sticky Note
Mae'r ymgeisydd yn dechrau dangos gwybodaeth a deallusrwydd o wahanol elfennau o ddaeareg fel caledwch, cynnwys mwynol, etc.

Sticky Note
Mae marciau llawer o’r ymgeiswyr i sawl cwestiwn wedi eu cyfyngu i Lefel 3 am nad oes digon o “gysylltiadau” yn eu hatebion. Mae “cysylltiadau” a’r gallu i asesu yn nodweddiadol o atebion Lefelau 4 a 5.

Sticky Note
Yn yr rhan yma, mae'r ymgeisydd â gwybodaeth a deallusrwydd 'gweddol dda' i 'dda iawn' ar adegau o ddatblygiad Cildraeth Lulworth a rôl daeareg yn ei ddatblygiad. Yn ogystal, gwelir dechrau asesu pwysigrwydd daeareg yn y broses yma. Mae angen datblygu’r rhan yma o’r ateb er mwyn codi'r ateb yn glir  i Lefel 5 yn y pen draw.

Sticky Note
Mae cwestiwn 6 yn gofyn i’r ymgeiswyr i “asesu pwysigrwydd daeareg yn natblygiad tirffurfiau arfordirol.” Tynnir sylw yma i wybodaeth a deallusrwydd yr ymgeisydd o rôl daeareg mewn datblygiad tirffurfiau a’r gallu i asesu ei bwysigrwydd yn y rôl yma.


Sticky Note
Wrth edrych ar yr sampl o’r sgriptiau a ddewiswyd yma, rhaid nodi mai nifer gweddol gyfyngedig oedd yn sefyll yr arholiad drwy’r Gymraeg yr haf yma a bod llawer ohonynt yn rhai oedd yn ailsefyll y papur y tro hwn. Adlewyrchir hyn yn safon y gwaith a’r marciau a welir yma.
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Sticky Note
Mae’r ymgeisydd yn cydnabod bod ffactorau eraill, ar wahân i ddaeareg, ar waith yma e.e., erydiad,  tonnau gwahanol, hindreuliad, etc. Mae hyn yn gryfder yn yr ateb.
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Sticky Note
Ceir diweddglo effeithiol ac mae  sylw i’r elfen o asesu yn rhedeg drwy’r ateb. Mae hyn yn gryfder yn yr ateb ar y cyfan.

Sticky Note
Cyfyngir yr ateb yma i Lefel 4 oherwydd bod yr ymdriniaeth o ddatblygiad stac “Old Harry” yn gyfyng iawn ar y cyfan.  Yn aml, mae angen sylw cyfartal i 2 dirffurf i godi’r ateb i Lefel 5 yn y math hwn o gwestiwn.


ADRAN A: THEMAU CYFOES MEWN DAEARYDDIAETH

Atebwch ddau gwestiwn, un cwestiwn o gwestiynau 1i 8
ac un cwestiwn o gwestiynau 9 i 16.

Dylech ddefnyddio cymaint o enghreifftiau ag sy’n bosibl i ategu eich atebion.

Atebwch un cwestiwn o gwestiynau 1 i 8.

Thema 3 Peryglon Hinsoddol

8. Trafodwch effeithiau peryglon sy’'n gysylltiedig & systemau gwasgedd uchel ar weithgaredd
dynol. [25]

() WJEC CBAC Cyf. (1203-51)
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Q.2 Examine the characteristics that make the tundra environment extreme.
(1.4) [25]

Guidance
Candidates:

i. should show knowledge and understanding of the climatic, biotic and soil
characteristics of the tundra environment that make it extreme;

il. should show the ability to examine the inter-relationships between climatic,
biotic and soil characteristics that make the tundra environment extreme.

Indicative content

Expect candidates to examine the climatically stressed arctic and/or alpine tundra
environment with short and cool growing seasons. Latitudinal tundra occurs in the
Arctic and to a much lesser extent in the Antarctic, where the environments are
characterised by cool, short growing seasons. Altitudinal tundra occurs under a
similar climatic regime. After temperature, the second most-important environmental
factor affecting most tundra communities is moisture. However, there are important
environmental differences between these two tundras, with the alpine type being
subject to much larger variations of daily temperature during the growing season, as
well as more intense inputs of solar radiation during the day. In contrast, arctic
tundra can experience continuous exposure to the sun’s rays, with 24-hour days for
an extended period during the growing season.The interrelationships may be
discussed in terms of the need for special adaptations required by biota to overcome
climatic and soil constraints. Where only the tundra climate is mentioned, the
answer is unbalanced and unlikely to reach beyond the average category. Expect
the range of climatic, biotic and soil characteristics to be linked and discussed in a
detailed and balanced way for candidates to reach the very good (Level 5)
category and examples to be well integrated in the answer. Average (Level 3)
responses will be characterised by secure, but generalised, content and good
(Level 4) responses by good factual knowledge and understanding.
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Q.6

Assess the importance of geology in the development of coastal
landforms.
(1.4) [25]

Guidance
Candidates:

I. should show knowledge and understanding of the effect of the character of
individual rocks and lithology (hardness, mineral composition, solubility) on
the development of coastal landforms;

ii. should show knowledge and understanding of the effect of geological
structure (bedding, dip, faulting, and joints) on the development of coastal
landforms;

iii. should show the ability to assess the importance of geology on the
development of the coastal landforms discussed.

Indicative content

Expect answers to deal with at least two landforms or a stretch of coast. Some
candidates may structure the whole answer around two or more selected landforms,
but it is permissible for a broader approach to be taken with reference being made to
a number of landforms by way of illustration. The influence of geology on landforms
can readily be examined in a coastal environment as follows: discordant and
concordant coastlines; differential erosion of coastlines; features of coastal erosion —
cliff profiles; caves, arches, blowholes; marine transportation — nature of load carried
which provides the ‘tools’ for erosion; marine deposition — pebble — gravel — sand —
alluvium — mud sequence in a beach or spit sequence. Expect the role of geology to
be assessed in a detailed and balanced way for candidates to reach the very good
(Level 5) category, with reference being made to other factors that influence the
development of coastal landforms besides geology such as differences in energy
levels and human intervention. Expect examples to be well integrated in the answer.
Average (Level 3) responses will be characterised by secure, but generalised,
content and good (Level 4) responses by good factual knowledge and
understanding.
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Q.8

Discuss the effects on human activity of hazards associated with high-
pressure systems.
(1.5) [25]

Guidance
Candidates:

i. should show knowledge and understanding of the hazards associated with high-
pressure systems;

ii. should show knowledge and understanding of a range of effects on human activity
of high-pressure hazards; better candidates may differentiate between the short-
term and long-term effects of high-pressure hazards;

iii. should show the ability to discuss the effects.

Indicative content

Expect candidates to refer to hazards associated with high-pressure systems in
either a temperate or tropical region. The hazards associated with high-pressure
systems in tropical regions include drought, a falling water table, loss of vegetation,
wild fires, soil erosion and desertification. The hazards associated with high-
pressure systems in temperate regions in summer are drought, falling water tables
and the loss of vegetation and winter hazards may include frost and fog, with air
pollution intensifying the fog conditions.

The effects on human activity are demographic, economic and social and can be
categorised as both direct and indirect. In tropical regions there may be reference to
demographic effects at both time scales such as deaths and long-term migration.
Economic effects may analyse losses in the short term such as reduced crop and
livestock production, unemployment and increased food prices and costs in the long
term, such as reduced tax revenues. Social effects may include observations on
health (malnutrition, water rationing, increased fire hazards) and bereavement.
There may also be consideration of the effects on the physical environment such as
salinisation that impact human activity.

In temperate regions there may be reference to economic effects such as reduced
crop and livestock production, the consequences for farmers and businesses,
increased food prices, unemployment and reduced tax revenues during summer
droughts and the effect on shipping and other forms of transportation of winter fog
and frost. Social effects may include observations on health (water rationing,
increased fire hazards in summer and atmospheric pollution and difficult driving
conditions in winter) and disruption to schools. There may also be consideration of
the effects on the physical environment such as ground subsidence that impact
human activity.

The discussion may take a number of different approaches; an assessment of which
effects are the most important, demographic, social or environmental; an assessment
of whether short- or long-term effects are the most significant or an evaluation of the
effects in different areas, MEDC/LEDC. Expect answers to provide exemplified detail
of the effects of hazards associated with high-pressure systems together with some
discussion of these to get into the very good (Level 5) category of assessment.
Average (Level 3) responses will be characterised by secure, but generalised,
content, whilst good (Level 4) responses should contain good factual knowledge and
understanding.
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Q.10 Making the world more equal is hindered by the operation of trade
blocs.” Discuss.
1. (1.5)[25]

Guidance
Candidates:

i. should show knowledge and understanding of the way in which trade blocs
hinder the closing of the development gap;

il. should show the ability to discuss the extent to which other factors such as
Third World debt, social constraints and cultural barriers are responsible.

Indicative content

Candidates are likely to agree broadly with the viewpoint that a major obstacle to
development is the operation of trade blocs, which greatly benefit each member of
the bloc but work to the detriment of countries outside the bloc as they face quotas or
tariffs that make it difficult to sell the commodities they have to offer, undermining
their economic development. Within blocs (EU, NAFTA), regulations often make it
possible for producers, particularly of food crops, to generate huge surpluses. The
surpluses are then sold, below cost price, on world markets (dumping). Countries
outside the blocs find that the commodities being ‘dumped’ are the ones they have to
sell, and below the price that would give them any profit. So their only means to
economic development is undermined. Candidates may however argue that other
factors such as indebtedness hinder the closing of the development. Countries that
were at a low level of development in the past were loaned money through the World
Bank and International Monetary Fund. Money that was generated firstly had to be
spent on paying interest on the loan before repaying the debt, and reinvestment in
the economy was impossible. Such countries became caught in a poverty trap.
They became the Heavily Indebted Poor Countries (HIPC). Special arrangements to
relieve this debt have been developed by richer nations, such as the Multilateral Debt
Relief Initiative (MDRI) but many believe this is still not enough to allow real
development to take place. Social constraints and cultural factors also act as a
barrier to development. However a more critical viewpoint may be that trade blocs
may help to make the world more equal (for example countries within a trading bloc
such as ASEAN) or that other social and political factors operate to reduce the
development gap such as debt agreements, aid and fairer trade for a variety of
motives including alleviating international tension, hunger reduction and a sense of
fairness. Expect the statement to be discussed in a detailed and balanced way for
candidates to reach the very good (Level 5) category. Expect examples to be well
integrated in the answer. Average (Level 3) responses will be characterised by
secure, but generalised, content and good (Level 4) responses by good factual
knowledge and understanding.
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